. rackets.
> Fill in the blanks with the correct plural form from b

—

NN
(a) There are seven C7QX0an (zeros/zeroes) in a crore.

(b) The carpenter made two new S\ D (shelfs/ shélves) to keep the

C OS> (books/bookes).

(c) There are several WS}:&—‘;QL\LDQI)(SW%OS/ studioes) in the area to get your

oy (photoes/photos) clicked.
(d) Kavya got stung by tQ_Q_Q_J\ (lr}ees//bies) and UQOQ%):L (waspes ,W%

(e) The YOQXn b (babys/ b%s) were excited to see the QU&:&O@Q))

(cuckooes/cuckoos) in the zoo.

(f) Shut the Q&_k%m‘g, (do‘b‘{/doores), or the XX\ U\ (monkeies/ mo\r{eys\
will enter the house. & o
/
(g) The two - N\CAD  (pianoes/ pic)%%s) weigh more than a hundred
O\ (kiloes/kilos). \

(h) All the renowned C)\(\Q\%S ...... (cheves/ a{ef{)advise using different
XY (knifs/ kn\'-@% to cut different _m.k%?\ﬂbﬁevegetabls/

vegetables).
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